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Given below are propositions: ®
All philosophers are fallible

Socrates is not fallible

In the classical section of opposition, which one

of the following is the correct answer?

e 2t ek e feu o €
woft vifres swvfer g §1 Y
T AYe &l ¢
faer % aeniuat o § Prafied § ¥ @e-
T W& I

(a) Contraryfi%lfltﬁ

(b) Contradictory/fatremardt

(c) Subalteration/3arfsrd

(d) Subcontrary/39-fatieft




Given below are propositions: Ans. (b) : M I faterlt 78 39 YR 3 SerEe
All philosophers are fallible i da W o F A R @ & A,
Socrates is not fallible @ i T ﬁ:ﬁ@ D) AT O TE E T | F T

In the classical section of opposition, which one
of the following is the correct answer?

ot 2 ek ae fw o £ e 9ol 8 8l -

avft qroifres wwofter 2 1

T a5 ( fortemardt )

fatrr & aenfiet @t W fyAfafgd o @ @E- \

T TE I ¢
Contrary/ﬁ'ﬁ%ﬂ

((Contradlctoryfﬁﬂﬂﬁﬂ'ﬁl j .

(¢) “Subalteration/34d Easy Notes 4u

(d) Subcontrary/3u-fatiet
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Given below is a proposition:
'Mahatma Gandhi is called father of nation. L/
What kind of classical categorical proposition
is it?
WETeAT Tieft ht METET SHgt ST g
ag frafefiga & ® fom yam @ Ffiat
fouer aehare 87
@ Universal affirmative/@rd4mm ﬁ’ﬁﬂ]ﬂ%}
(b) Particular affirmative/faf¥te fasramms
¢) Both 1 and 2/1 3R 2 A

(
(d) Neither 1 nor2/1 3R 2 ¥ & Hi3 «ff 7




Given below is a proposition:

'Mahatma Gandhi is called father of nation.
What kind of classical categorical proposition
is it?

WETeAT Tieft ht METET SHgt ST g

7z frafofee o ¥ 60 yom &1 et
foruer aehara 2

(a) Universal affirmative/Fd4m fEams

(b) Particular affirmative/faf¥re ECRICES

(c) Both 1 and 2/1 3R 2 T

(d) Neither 1 nor2/1 3R 2 ¥ & Hi3 «ff 7




Given below is a proposition:

'"Mahatma Gandbhi is called father of nation.
What kind of classical categorical proposition
1§ it?

WETeHT ittt T st W g

g frafofgs ¥ ¥ fom yan &1 aie
foraer Fahae &7

(a) Universal affirmative/STdY fEamT

(b) Particular affirmative/faf3r® EPRICES

(c) Both 1 and 2/1 3R 2 2
(

d) Neither 1 nor 2/1 3R 2 ¥ & &% 4 ]

Aws, (1) : TR T @ off & W R

TR S O T 4
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Which of the following pramanas are accepted.
by Vaisheshika philosophy? A
Froforfaa & @ @@ gomor Ao atT F|
e feru =i 82
Pratyaksha/'m
Anumana/3FAH \/
Sabda/9Tsg
Upamana/39ATH
Arthapatti/3Teriafs

Anupalabdhi/3TJucifeer

Choose the correct answer from the options
given below:

o A TE 3T T 99 HITH:
land20nly/%>‘c:l?'ll 3R 2
(b) 3and 4 only/aa_cﬁ[ 3 3 4

(c) 5and 6 only/&da 5 3R 6
(d) 3 and 5 only/&aa 3 3 5

= o .
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Which of the following pramanas are acceptedl Ans. () %m v | wigr g fe g_
by Vaisheshika philoso%hy? hid

frefefega @ @ ®F-1 yaror aofves ol §| | O T—
Pratyaksha/gcaet
Anumana/3TJHTH
Sabda/91eg

Upamana/39dTH
Arthapatti/steiata

Anupalabdhi/ail'gﬂa‘@

Choose the correct answer from the options
given below:

ﬁwﬁr@aﬁﬁuﬁmwma&m
(a) 1 and 2 only/&da 1 3R 2
(b) 3 and 4 only/&ae 3 3R 4
(c) 5 and 6 only/&ad 5 3R 6
(d) 3and 5 onlym 3 RS

o - .

™




Which of the following are accepted in
Buddhism? |
g o ¥ fawifefian W ¥ fot whtam fon

g7
. Adhyasa/3TeATH

) Apohamﬂ'ﬁ

3. Abhava/3¥Ta
\J\/

4. Arthapatti/3rerafe

5. Pratyaksha/Jea8t
6. Sabda/¥Ted

Choose the correct answer from the options
given below:

frafafgs fageat o @ W W & WA
T

(a) land20nly/3>7=|ﬁ | 32

(b) 3and40nly/%ﬁ3 N 4

(c) 2and50nly/%?1'a 2 3 S
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Which of the following are accepted in
Buddhism? |
g o ¥ fawifefian W ¥ fot whtam fon

e ¢
. Adhyasa/3TeATd

L Apoha/aﬂﬂ'ﬁ

3. Abhava/3¥Ta

4. Arthapatti/3raiufa

5. Pratyaksha/Jeet

6. Sabda/¥Tsg

Choose the correct answer from the options
given below:

frafafgs faseat o @ @t I & w@d
'Gﬁﬁl'q:
(a) land2onlymﬂ | 32

(b) 3 and 4 only/&ad 3 30X 4
(c) 2and 5 only/éaﬁa 2 3 S
(d) 5 and 6 only/da 5 3 6




Which of the following are accepted in| 4 s hapateisreiafa
Buddhism’ 5. Pratyaksha/Jeaet

g e W ot W W foat wltam fon| 6. Sabduv

Choose the correct answer from the options

W%’ given below:]%amfi i
. Adhyasy 30T o -
) Ap0h3/m (a) 1 and 2 only/&ad | 3 2
(b) 3and40nly/3:_cl?'l 3 34
J. Abhava/H¥Td Yof 2 and 5 only/Fa@ 2 3K S
(d) 5 and 6 only/&dd 5 3 6
Ansi(e)) g ot 7 f 1 e T 2- N
. e o




What is the nature of a logical argument?
Choose the correct answer from the following:

AHETA fh &1 Fga o gt ¢/ ftead

T @ g I @ T CAIELE

(a) Justified or unjustiﬁed/ﬁfﬁﬁﬂ IR W -
i

(b) True or false/Se! 21 Teid

(c) Valid or invali/a 7 3738

(d) Verifiable or not verimable/STIa 37l
CRGIEID




What is the nature of a logical argument? '

Choaotse ihz ci»rr:ga;s?verafroolﬁ ﬁ:e leﬁ:vi:ig:t Al (C) : m ‘Iﬁg Eﬁ W 1 W ﬁﬂ EW él

TR Ifh a1 JI @0 qt ¢ FRerrrng

ﬁﬁuﬁmmmfm

(a) Justified or unjustiﬁedmﬁlﬂ W -
e

(b) True or false/ T 1 Terd

(¢) Valid or invalid/d 71 3

(d) Verifiable or not verifiable ST e
CUOIIED




Given below are two statements, one is labelled
as Assertion (A) and the other is labelled as
Reason (R)

Hrer I waa fau o § : ugen srfuwmeas (A)
I’ AT TE (R)

Assertion/3TTT&RaTT  (A) If there is a
contestation between Shruti and Smriti, Shruti
prevails over Smriti/afg ‘gfa’ dw ‘Tfa’ &
ster gfaooat gt €, o ‘gfa’, ‘ggfa’ 9 st
guTelt Zdt

Reason/deh (R):  Shruti  represents the

philosophical aspect of the Vedas and
Upanishads, while Smrm is an a mﬂmauon of the
philosophical ideas/ gIfer

qifrer weestt @ E{Sﬂ?ﬁ &, Wdafe u{ﬁ‘r
it-eh faami st Uas A9anT 2l
In the light of the above statements, choose the

most appropriate answer from the options
given below :

Suds worl % e § Freifea Rraedt §

¥ waifire Iugh IO I —

(a) Both (A) and (R) are correct and (R) 1s the
correct explanation of (A)/(A) 3R (R) i
& & 3T (R), (A) &I G A/ 21

(b) Both (A) and (R) are correct but (R) 1s NOT
the correct explanation of (A)/(A) 3R (R)

Al W & 3 (R), (A) F L A 7@ 2
(¢) (A) is correct but (R) is not correct/(A) &l 2
9] (R) Ted 21
(d) (A) 1s not correct but (R) 1s correct/(A) Teld 2

9] (R) & 3|

o
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Given below are two statements, one is labelled
as Assertion (A) and the other is labelled as
Reason (R)

Hrer I waa fau o § : ugen srfuwmeas (A)
3T EU T (R) T ;

Assertion/3TTT&RaTT  (A) If there is a
contestation between Shruti and Smriti, Shruti

IUTh AT oh AToiter o feifera faemeat o

| waifire Sugh 39T IH—
\/(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A)/(A) 3T (R) @i

T € 3R (R), (A) # T& =AREAT 21
(b) Both (A) and (R) are correct but (R) 1s NOT
the correct explanation of (A)/(A) 3R (R)

prevails over Smriti/afg ‘gfa’ dw ‘Tfa’ & aH |/ & 3 (R), (A) T wE AR T 2
Frer mu.‘: @.(-_ﬁ -g. =T cgﬁqr twﬁ-{s -& 31feTeR (c) (A) is correct but (R) is not correct/(A) T&l 2
woreht 2t &) ' . 9= (R) TTed 21

pury ' . (d) (A) is not correct but (R) 1s correct/(A) TTead g
Reason (R):  Shruti represents the T (R) S8 21
philosophical aspect of the Vedas and ' _
Upanishads, while Smriti is an ap aglcanon of the [And((a))A 3R R @ GE € 3R R, A # TE AR
philosophical ldfra;f;lﬁf : % 8 AR iy sk ‘wft ¥ e sfwodt & 8, @ ‘of

iteh faami st Uas A9anT 21

In the light of the above statements, choose the
most appropriate answer from the options
given below :

qﬁ@aﬂmmﬁs‘lﬁtéaﬂfrﬁm’ ‘gft’ 3 3R Iufwei
% NS TR d Wi 3, & W el
ferami 1 U S 2




Quantity and quality of a categoricai
proposition decide : g
fodt q@E a@m @ W AT TUE
frefefiga & favta @ §-

(a) Validity Qs (b) Invalidity/3rdemm

(¢) Mood/3aw (d) Figure/3TgHd




Quantity and quality of a categoricai
proposition decide :

fdt gow ar@m @ OAET R U
forferfiga @ fota &t §-

(a) Validity/dur (b) Invalidity/3/a4
(¢) Mood/31awT / (d) Figure/3Tahid

Anzicii:mWﬂémaﬁwaﬁiwm.

v fautfts & 21




What is the sequential order of a R

comprehensible sentence in Nyaya philosoph

o v iy — T
ffi- A

A. Akanksha/3TaTen

B. Yogyata/iiﬁ'mﬂ'[

L, Tatparya/?ﬂ?fl'ﬂt

D. Sanniddhi/afaer

Choose the correct answer form the options
given below:

e fow Tu fermeat o @ W I @
(a) D,C, B, A (b) A,B,D,C
(c) C,D,B, A (d) D,C,A,B




What is the sequential order of a
comprehensible sentence in Nyaya philosophy

AT Y9I § S R & FEE H
ferfiau-

A, Akanksha/almiaij/
B. Yogyata/!ﬁw J

C.atparya
D. Sanniddhi/afaf .~

Choose the correct answer form the options
given below: ‘
et fow v foraret & @ WE I A A B
@DCBA  SABDC)

¢) C,D, B, A d D,C,AB

Ans.(b)-:émiﬂhﬁmmaﬁmﬁﬂé-

| TR
|
i,
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"To infer rain in the past by perceiving muddy
water in the pond', is

e e T e
N

a) Purvovat anuman \ Py/

b) @‘esvatanumanfﬁﬂa'rl HHH

¢) Both (a) and (b)/ (a) eI (b)

(d) Comparison/qei!

(
(
(




"To infer rain in the past by perceiving muddy
water in the pond', is

ATATa W g U o Ud W S g @
forend forarTern %:

(a) Purvovat anumanaﬂﬁa’r{ A1

(b) Sesvatanuman/J15a HHH

(¢) Both (a) and (b)/ (a) 3 (b) EF
(d) Comparison/@'ﬁm

Ans, (h)/ TeTd § F9eqeh T & UK T @ ¥ it
g a1 fep fee Sad e €1 9 g9 e
G & HUR A FRO F FAH HA ¢ 9 WA

S 1 2|




The fallacy (hetvabhasha) produced in the
conclusion due to the repudiation of Sadhya by
Hetu is known as \o

¢q G T & GeA & i e e
ol feTT YTt a1 BT gl Tt 7

(a) Savyabhichara/FeAER

(b) Viruddha/feg,””

(CT Sapratipaksia A e
(d) Asiddha/30g




The fallacy (hetvabhasha) produced in- the
conclusion due to the repudiation of Sadhya by
Hetu is known as

¥ 2 WO % e & e e
a1 T YT a1 TV ) Y

2) Savyabhichara TR

Viruddha 4%

) Satpratipaksha/ TS0

Asiddha/ 3G

= m— - - .
o — o, e - —

Ans.(l‘))’: il
1 [

i
& i W R




Given below are four propositions. Two of . Some men are honest/@® @fth $==w &
them are related in such a way that they cannot ~ D. Some men are not honest/&S wfth
be true, although they can be false. Select the §HTRR T g

code that states those two pmgnsitions. Choose the correct answer from the options
m ' given below:
ﬁiﬂ? o ,'ﬂﬁﬁa‘l'@ et fou T ferameat ® | WE I @ WA &
wﬂm%ﬁﬁ&m?ﬁa’fmwﬁi%w (a)AandBonymﬂASﬁTB
ﬁmﬁ,wﬁuﬁqmﬁgmmﬁ b) B and Cony/éﬁﬁB 3R C
¢) C and Dony/ﬁﬂc D

(
A All men are honest/@ft Zfvh 3R ((
B. No men are honest/@E ¥t &f R

Tl g

d)AandDony/aﬁHA HR D

O




Given below are four propositions. Two of . Some men are honest/&® Stk SUTIEN §
them are related in such a way that they cannot [ ¢,e men are not honest/FS  &th

be true, although they can be false. Select the T
code that states those two pr opositions. g ,
Frar EITT 3:[& T E‘I .@. Choose the correct answer from the options

given below:

W%ﬁ&w:ﬁﬁmméw Frer fo U ferehent # ¥ W T B I
@mﬁ,ﬁﬁm%?ﬁﬁwaﬁ J2) A and B only/&a@d@ A 3R B

A. All men are hunesl@‘i— (b) B and C only/%ﬂ B 3R C
B. No men are hones@ ‘ﬂfwﬁﬁ (¢) C and D only/&d@ C 3 D
EERG (d) A and D only/&a@ A 3R D

Ans.@;;ﬁﬁﬁqaﬁamﬁ f aF T 9 99
TE 8 Thd 2 fh U% Y 3T 2 Tahd 21 A 3R B||

YHR F deharad & 7eg faudia @ gar 21 A
quft =afth e 2| E _.'I
~ Easy Notes 4u § —
—=r i Online Study *
Tauta) : )
}v‘v‘--_ by g-ﬁa

J
Fig ot =afth IFER F8 gar




%g":c—hl lﬁ‘%ﬂl‘gt_gﬂ ’F — Choose the correct answer from the options

iven below:
Listge-1 UsURR—11 | Frafrfa fvedt w3 9
(Theories/fHGTa) (Philosophers/ | (a) AL, B-II, C-I, DIV
( 3 ] 3

(b) A-IL, B-III, C-1V, D-I
A. | Episteme and Doxa/ | I Aristotle/ (¢) A-III, B-IV, C-I1, D-I
uftreim qen grer A (d) A-IV, B-1, C-III, D-II
B. | Potential and Actual | II. | Hegel/ |

being/49a Ud arEfad I \”7
Sia

C. | Vyavaharika and | III. | Sankara/
Parmarthik/Ta@1a vig
Ug qrEfde

D. | Rational and Actual/ | IV. | Plato/
aifhs wd ardfas el




Match List I with List 11

Teft—1 &Y Tefl—11 & W gAfer FFAT - Choose the correct answer from the options
— B ' iven below:
List/get—1 List/Gefi—I1 e e e

(Theories/frgTa) (Philosophers/ | ;) A_| B.I[, C-III, D-IV
qrifa)

(b) A-II, B-III, CIV D-1
A. | Episteme and Doxa/ | I Aristotle/ ECJ A-11, B-IV, C-II, D-]

RECRERICEIIR 1) A1V, B-L, C-IIL DT
B. | Potential and Actudl | I}~”| Hegel/ S |
being/d9d Ud i

Sia

C. | Vyavaharika II. | Sankara/
Parmarthi I
Ug qrEfde —

D. | Rational and Acfual/ | IV Plato/
GIEERE| a’rmﬁaaj - el

=) ] =) e
4.




“What type of cognition is be.yond the ambit of
perception?

& g ¥ W feifed § # @E-T
ATV 31Tel &7
(a) Anumiti/3F@E  (b) Upamiti/3umfd
(c) Nirvikalpaka pratyaksha/fdeead Se
(d) Savikalpaka pratyaksha/Sfd@eud e




“What type of cognition is belyond the ambit of

erception?
u'ruaﬁpwm & T 9 W freifed § § @F-T
AT 3tra 87
(a) Anumiti!aﬁ’ﬁlﬁ (b) Upamiti/’d’qﬁﬁ
\M’I(\iirvlkalpzﬁ pratyaksh 94
(d) Savikalpaka pratyaksh qeed

A, (¢) TR & 970 0 e

@mé|ﬁﬁmmﬁmmﬁmm

w1 0 o o B 3 1

7w |




'Golden mountain is fiery because it is smoky' |
Which type of fallacy is committed by the

above inference? \

GRS Yaid AR ¢ it 98 WA ¢ g >/
W | -1 GeaTiTH 87

(a) Asraya siddhi/3ngatifs

(b) Swarupa siddhi/&&TT fafg

(¢) Vyapyatva siddhi/@Tamfafg
(d) Savyabhichara/’v'la’ﬁﬂﬁ




'Golden mountain is fiery because it is smoky' ( ns, () ) 7 T ﬂ fm w qwfes F{% el

;T):icehi“tfggu::? fallacy 1s committed by the mm T ’@Fﬂ I ‘TIUT 7 i 7 3[ fﬁ
(T R § it 7 g g (19 6 i G v et ¢

T -1 g §7 W 3 A 7
(a) Asraya siddhi/sngafife —
(b) Swarupa siddhi/@& ffg
(¢) Vyapyatva siddhi/FTmafdfg
(d) Savyabhichara/FeAfiam
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In a proposition which is particulal:
affirmative:

foredt Teharerar fored faviw fadrameres 2t £,

aE 8-

(a) Subject term 1s distributed but the predicate 1s
not distributed/35¥4 W faafid Eg?ﬂ § WA
fatr faafta & & 2|

(b) Neither the subject nor the predicate 1s

distributed/32¥a 3R fagg & @ f faafia
T B 2

(c) Both subject and predicate are distributed/
29T 3R fadg g faafa & €

(d) Subject 1s undistributed but predicate 1s
distributed/32v9 faafta 7 @i ¢ W faea
faafta g 2|




In a proposition which is particular.'/

affirmative: .
ferelt Tehaerr forent favrw faraerss &Rt 2, | |41 (b) ; s e 7 4§ v o fv
T 8- a1 o ffis 74 g 21

(a) Subject term 1s distributed but the edlcate IS

not distributed/3e¥d Te faafia
faeg faafta =& & 2

b)/Neither the subject nor the _j_dmte\ls
\)/Ellstnbuted/?:iw IR fagg Eﬁs‘ )

Tl & 2 -

(c) Both subject and predicate are distributed/
3299 3R f989 g faaftd & 2

(d) Subject 1s undistributed but predicate is E;sy Notes 4u
distributed/32¥3 faafa 7 a1 @ W faed | Online Study =78

fgafa i 21




Match List I with List II
Telt—I &l Felt—11 & T GAfere aifa :
List/geh-1 List/gh—11 \
(Concepts/3TaEITUM) (Schools/EyET) —
A. | Abhava/3191d [. | Jainism/SH
B. | Anupalabdhi/ | II. | Buddhism/dg

1 :
C. | Apoha/3TI2 1. | Vedanta/agid

D. | Syadavada/ [V. | Nyaya/=d
Hladlq

Choose the correct answer from the options
given below:

(a) A-II, B-III, C-I, D-IV

(b) A-IIL, B-1V, C-II, D-1

(c) A-1V, B-III, C-II, D-I

(d) A-1. B-IL C-IV, D-III




Match List I with List 11

geft—1 &t Gelt—11 & [T Gaferd ahifa

List/g=i—1 List/g=i—II
(Concepts/3TTEITIUM) (Schools/HygT)
A. | Abhava/3191d [. | Jainism/StH
B. | Anupalabdhi/ | II. | Buddhism/atg
C. | Apoha/37Tie L. | Vedanta/agia
D. | Syadavada/ IV. | Nyaya/=d

Hladia

Choose the correct answer from the options

given below:

frreferfiae fararedt § & @ FwE 9T -

(a) A-II, B-III, C-1, D-IV
(b) A-III, B-IV, C-II, D-1
(c) A-IV. B-III, C-II, D-I
(d) A-1, B-II, C-IV. D-III

<],

S| = >
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Given below are two statements

Hr=r 2 == fau o €:-

Statement/heq: All knowledge is a
recollection. It is true on a certain account/

HHT AT U YT oh YA ¥ 98 &S &<
%k TEr Bl

Statement/SheT4: All men by nature desire
understanding/@l I WHETE o & ar
leﬁ"g:

In light of the above statements, choose the

most appropriate answer from the options
given below.

3udh hUAT oh 3Tleh o fAifera faemeal o

o & g4

(a) Both Statement I and Statement Il are true/
HA 1 311 a1 F&1 &)

(b) Both statement I and statement Il are false/
HA= [ 3 11 -1 & 781 &1

(c) Statement I i1s true but Statement Il 1s false/
Fg9 1 &t 2 fhg Fga 1 T a8 2

(d) Statement I 1s false but statement Il 1s true/

Eﬂqlﬂ%ﬁﬂﬁé,ﬁ,ﬂmmn@%l




Given below are two statements

rer St @ fau o E:-

Statement/aheAAA: All knowledge is a
recollection. It is true on a certain account/
[T 7 Teh Wbl T YATERUT ¥l 98 &S &4
dh Tt Bl

Statement/&heA4: All men by nature desire
understanding/@Ht A WU o # &
a'liﬁ"%

In light of the above statements, choose the

most appropriate answer from the options
given below.

IULTh HUAT oh 3TcAleh W HATTehd faahedl o

o wE g

\(?/éoth Statement I and Statement Il are true/
Fo [ 3R 11 31 T8 &

(b) Both statement 1 and statement Il are false/
HA [ 3 11 -1 g& 781 g1

(c) Statement | i1s true but Statement Il 1s false/
HoF 1 98 @ fohg o9 11 T 7 2

(d) Statement I i1s false but statement II 1s true/

HoH 1 98 7 3, fhg Fo 1 5 2

Ans, () 79 19 T TR 1 YO0 ¢
T8 7 €1 9 S 0 O 6

Rl
s

3o v 4 3 Fg ot 1 0 4
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Match List I with List 11

geft-1 st Geii-11 & |1y gafea sife: 9D
List/3=i-1 List/a=i-11 /
(Concepts/ (Schools/AHITTA)
3TEEITIUT)

A | Nirvana/ faafor | 1 | Sankhya/aR =

B | Nihshreyasa/ 2 | Jainism/St= 4

f: 999

C | Apavarga/ 3 | Upanishads/39f8g
YT

D | Moksha/51e 4 | Buddhism/atg &"

Choose the correct answer from the options
given below:

et fau v faereat § 9 Q& 39 94
A B C D

(a) 4 3 2 I

(b) 1 2 4 3

(c) 3 4 2 |

(d) 3 4 2 |




Match List I with List I1 Q:AIIS. la: )
eit-1 ﬁtf;{i-ll %mﬂ‘aﬁ’lﬁ;ﬁ;ﬂ: To-| EFH'”
List/q=-1 List/q=t-11 T A
(Concepts/ (Schools/AHTA) l/
L) A framn | 4 | g u
A | Nirvana/ fAafor | 1 | Sankhya/5&a B g3 | 3ufwe
B il'%l{i:l;};é:l_{;eyasa/ 2 | Jainism/54 g9 C T 2 | o o
C | Apavarga/ 3 | Upanishads/3uf5g D e | | 91
HaT —

D | Moksha/me 4 | Buddhism/arg &

Choose the correct answer from the options
given below:

F fau T e § @ w3 -
A B C D

(a) 4 3 2 l

(b) 1 2 4 3

(¢) 3 4 2 l

(d) 3 4 2 [

Easy Notes 4u

Online Study *




All flowers are toys. Some toys are trees. Some
butterflies are trees, then

ot gwr fgde € 9 fad= g & &9
(i) No butterfly is flower/&3 4 fadeh 77 7 21
(11) Some butterflies are toys/$& faferar fige 21

(iii) Some toys are flowers/F faa g gl
(1v) Some trees are flowers/$® & I gl
(v) Some trees are butterflies/F® 31 faaferai &
Choose the correct answer from the options
given below:

(a) (i) and (ii) only/&ae (i) 3R (ii)
(b) (iii) and (v) only/&aa (iii) 31K (v)
(¢) (1) and (v) only/%‘ciﬁ (11) R (V)
(d) (ii) and (iv) only/&ae (i) 3R (iv)




All flowers are toys. Some toys are trees. Some
butterflies are trees, then

wft tw fad {1 F9 fedn 9w § ¥
(i) No butterfly is flower/@§ 4 et T el o
(ii) Some butterflies are toys/F® feferai fga ¢
(111) Some toys are flowers/$H® figei Rl gl

(1v) Some trees are flowers/$& & TN gl

(v) Some trees are butterflies/$® & faaferan gl

Choose the correct answer from the options
given below:

(a) (i) and (ii) only/&ad (i) 31 (ii)
(b) (iii) and (v) only/&aa (iii) 3R (v)
(c) (11)and (v) only/%ﬁ?'l (i) 3R (v)
(d) (ii) and (iv) only/&ad (ii) 3 (iv)
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"Wherever there is smoke, there is fire.

There is smoke in Mr Verma's chamber.

There must be fire in Mr. Verma's chamber.

In accordance with Indian logic this is an
example of

‘gt W T %, a@t 21 2

sft amt & et ﬁ g3 g1

sft aut & et ® fiT gt enfgm”’

TR THITE o ATER g frafafaa & 4@
ferTant ITEAT ¥ -

(a) Pratyaksha pramana (Perception)/Sc3&l JHIUT
(b) Upmana (Comparison)/39HH

(c) Hetwabhasa (Fallacy)/%r_cﬂw

(d) Vyapti (Invariable relations )/t




"Wherever there is smoke, there is fire,
There is smoke in Mr Verma's chamber.,
There must be fire in Mr. Verma's chamber.
In accordance with Indian logic this is an
example of

i wa? 1%, a8 AT gl

oft aut & ﬁ T 8

sft aut o wher o alﬁa gt =i

AT TehyTe o TN 7g fwfeiad o ¥
e SR § -

(a) Pratyaksha pramana (Perception)/Sc&l HIUI
(b) Upmana (Comparison)/ 3714

(¢) Hetwabhasa (Fallacy)/%ﬁTW

(d) Vyapti (Invariable relations)/fd

I Ans, (djs 7 éwéwﬁﬁwwm
73 % i sk R | T

wmﬁmﬁqmw@m
W o amad ¢

s




In order to authenticate the environmental

values as advocated by our ancestors, a scholar ’),\
cites examples for Vedas. The means of e
knowledge used by him/her in terms of Indian

logic will be called

TAR Udl g gauiiyd gaieruita goai ot
QUTOT 3 o foTT Ueh a7edar agi ¥ ISR Igd
HIAT g1 ARATT Tk St I W IWah gl
Ugh AT o AU hi AT Shgl STE?

(a) Anumana (inference)/3AHIH

(b) Arthapatti (Implication)/37&af

(¢) Shabda (Verbal testimony)/3Ts

(d) Upamana (Comparison)/39HIH




In order to authenticate the environmental
values as advocated by our ancestors, a scholar
cites examples for Vedas. The means of
knowledge used by him/her in terms of Indian
logic will be called

TR Udwl R uadifya uaiawefiar weat @t
QUTOT 4 o o0 Uah a1edar daf | ISl Igd
HIAT 1 WA ThITE i I W IWh g
UITh AT o WL Shl ST el STA?

(a) Anumana (inference)/3THH

( ' ication)/374Taf
(&)_Shabda (Verbal testimony)/¥1s% )

(d) Upamana (Comparison)/39HTH

Ans, (¢) : T 2 § ‘T feg v F w6

mwmmw?mﬁmmwm

7 42 3T 347 00 & 7 3% 40 WO W &
4R 1 T ) 0|

Easy Notes 4u

Online Study




@ " -

List/gehi-1 List/gert-11 Choose the correct answer from the options
Typical Aristotelian syllogism | Technical names given below:

in Nyaya mmﬁmmgﬁq

philosophy

A. Socrates is mortal/ & | L. Nigamana/ (a) A-V, B-1V, C-III, D-I1, E-I

TR & frme (b) A-l, B-IL, C-III, D-IV, E-V
B. Because he is a man/@3ifa& | 1. Upanaya/ 3949 (¢) A-II, B-I, C-II, D-V, E-IV

98 U e 2| (d) A-I1, B-III, C-I, D-IV, E-V
C. Whoever 1s a man, 1s a | Il Udaharan/

mortal e.g. Pythagorasﬁﬁ S| ),?’

ff smaft @ @@ AW 2 o

IR UEUTIRE

D. Socrates i1s a man who is | [V. Hetuf%@
invariably a mortal

& e 2 o fuer &y
g J 2

E. Therefore Socrates 1s mortal/ | V. Pratijna/’srﬁ-'ﬁﬂ
T AT A4 3




@ C --

List/geii-1 List/g=-11 Choose the correct answer from the options
Typical Aristotelian syllogism | Technical names given below:

in Nyaya ﬁmﬁrﬁaﬁm‘tﬁﬁaﬁm

philosophy
A. Socrates is mortal/ FHUT | L. Nigamana/ _(a) A-V, B-IV, C-III, D-II, E-l

T 3 ferma (b) A-L, B-II, C-III, D-IV, E-V \/
B. Because he is a man/@3ifa& | 1. Upanaya/ 3949 (¢) A-III, B-1, C-I1, D-V, E-IV
a8 U e 2| (d) A-II, B-III, C-I, D-IV, E-V |

C. Whoever 1s a man, 1s a | Il Udaharan/ Aﬂ@)
mortal e.g. Pythagoras/si 38Ul Eit-1
df el & @@ AW 2 A.Wwé —
3RS T T e 3|

D. Socrates is a man who is | IV. Hetw/?2d C Gﬁ o amﬁr 2 98 9 @
invariably a mortal/gHTd e
?:manzéilésﬁlmmzm D. YHUd U el @ oi_fgere v

¥ AW 3
E. Therefore Socrates 1s mortal/ | V. Pratijna/’srﬁ-’ﬁﬂ T
A R A 3 L o :@_?




